) E Hh S 4 A | )14 KA HIE THHT A 44
PAN
g A kg | HEJI| D oIS
28 HEAR (H/H) 5/25 7/20 11/16 1/17 EOE
R AR A EA] (RF:5)) 7:40 7:12 7:35 9:05 7 ¥
- A E Pt Pl it Pl
== 7K % (m) 4.3 4.4 4.8 4.2
g BB K =g )= g g
— ] X e T = = AL
= H(C) 93. 26.0 11.3 15
ried IS i (C) 22.1 26.3 16.4 11.0
R @, JiE! ket | e | IR fk £0
S = T KR | BT A R | ) s B | 1) 1 g B2
gl B (m) 0.8 1.0 1.8 2.6 1.6
75 1 B (em) |> 100 [> 100 |> 100 [> 100 |> 100
15 | A= pH 7.3 7.3 7.3 7.1 7.3
- DO (mg/L) 4.9 6.7 4.6 6.5 5.7
" BOD (mg/L) 1.1 1.6 2.6 1.5 1.7
b COD (mg/L) 7.4 5.8 6.0 8.2 6.9
H |5 SS (mg/L) 2 1 1 1 1
mLE = # (mg/L)|  8.03 9.37 6.34 13.5 9.31
S B (mg/L) 1.01 0.980 0.805 1.25 1.01
HI =% [iD g (mg/L) 0.02 0.02 0.01 0.02 0.02
1 K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 [< 0.001 [< 0.001
el 2 ¥ 7 v (mg/L)]< 0.1 |< 0.1 [< 0.1 [< 01 f< 0.1
53 i) (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
HoL S i 7 o s (me/L) )< 0.02 [< 0.02 [< 002 [< 0.02 [[< 0.02
H At F  (mg/L) [< 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
o 7K $E (mg/L) |< 0.0005]< 0.0005]< 0.0005[< 0.0005[< 0.0005
¥ Ei] (mg/L) < 0.02 |< 0.02 |< 0.02 |[< 0.02 [|< 0.02
w8k (me/L) 0.11 0.08 0.07 0.10 0.09
/s mrE~> B> (mg/L) 0.04 0.02 0.06 0.03 0.04
H v = A (mg/L) < 0.02 < 0.02 |< 0.02 |[< 0.02 (< 0.02
WAk W A4 A4~ (mg/L) 1760 719 6510 1960 2737
z MBAS (mg/L) 0.03 0.03 0.04 0.04 0.04
TUoE=TEEE (mg/L) 0.28 0.26 0.22 0.57 0.33
) firEfsEsE# (mg/L) 0.12 0.02 0.14 0.26 0.14
[l E (mg/L) 7.51 8.76 5.50 10.1 7.97
f "% W P& B (me/L)| 0934 | 0952 | 0779 | 1.22 0.971
B X s B (nS/m) 610 226 1970 671 869
OB oK OB T/E INE] T)E TE
. 7K i (C) 23.6 26.1 20.1 14.4
5 X T AR R | mteokszn | BT KB [ 4% 1 e R
N 75 i o (em) |> 100 |> 100 |> 100 |> 100 > 100
L[ A pH 7.4 7.3 7.5 7.5 7.4
i DO (mg/L) 0.7 < 0.5 1.7 2.2 1.3
I | BOD (mg/L) 3.6 9.0 2.0 1.6 4.1
o COD (mg/L) 5.2 11 4.6 3.7 6.1
alus SS (mg/L) 4 4 1 3 3
=~ = S % (mg/L) 1.44 1.79 1.11 2.06 1.60
Hl 4 B (mg/L)| 0.425 0.490 0.239 0.213 0.342
WAk W A 4~ (mg/L) 14400 13400 14500 16200 14625
< ToE=TMHEFE (ng/L) 0.99 0.98 0.34 0.87 0.80
» MRtz (me/L) 0.01 [< 0.01 0.19 0.13 0.09
[ e (mg/L) 0.14 0.01 0.36 0.88 0.35
o | BR ME B (mg/D)] 0.363 | 0.456 | 0.202 | 0.181 0.301
A s O (mS/m)] 4210 3690 4180 4410 4123




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g JEAE wrE | BRI D K
28 HEAR (H/H) 5/25 7/20 11/16 1/17 EoOE
A FHAREZ] (RF:47) 8:12 8:10 8:06 9:50 By
. A E Pt Pl it Pl
== 7K % (m) 3.6 3.0 4.2 3.6
BRI KB =g )= g g
B PN e = = = AL
I " (C) 24.9 26.4 12.0 7.8
et IS i (C) 22.8 27.2 16.1 13.1
i @, JiE! ket | e | IR fk £0
S = P e Ji: 5
5 75 B - (m) 0.8 1.0 1.9 2.5 1.6
% i E (cm) 90 |> 100 100 100 98
18 | A= pH 7.4 7.6 7.5 7.2 7.4
- DO (mg/L) 3.1 7.3 6.4 5.6 5.6
" BOD (mg/L) 2.5 1.7 1.2 3.1 2.1
bt COD (mg/L) 7.3 5.8 4.6 9.5 6.8
H |5 SS (mg/L) 3 2 1 3 2
w2 = # (mg/L)|  5.10 6.50 7.28 10.6 7.37
S B (mg/L)| 0.875 0.850 0.758 0.589 0.768
HI 2% 4 (mg/L) — — — - -
7 F 2 v A (mg/L) — — — — -
wmle v 7 v (mg/L) — — — — -
JE &h (mg/L) — — — — -
H| A fli 7 v & (mg/L) — — — — -
H fit F# (mg/L) — — — — -
i 7K R (mg/L) — — — — -
¥ ki (mg/L) — — — — —
ol B M B (meg/L) — — — — -
B I amti~y 7> (mg/L) - = = = -
H v = 2 (mg/L) — — — — -
WAt W A 4~ (mg/L) 4710 1810 5860 7990 5093
z MBAS (mg/L) - — — — -
TUoE=TEESE (mg/L) 1.02 0.38 0.29 5.90 1.90
D etz R (mg/L) 0.12 0.04 0.12 1.19 0.37
[ E=ER (mg/L) 3.35 5.48 6.29 2.97 4.52
I % m % % (me/L)|  0.799 0.824 0.723 0.541 0.722
B X s B (nS/m) 1560 620 1890 2430 1625
BB oK ®E T/E INE] INE] INE
. K i (C) 23.4 25.9 19.9 14.2
5= = MR mwiokgen| MR L
N 5 5 - (cm) 100 60 100 100 90
| e b 7.6 7.4 7.9 7.8 7.7
o DO (mg/L) 2.9 < 05 3.7 5.2 3.1
T | BOD (mg/L) 2.1 3.9 1.0 1.8 2.2
o COD (mg/L) 4.8 6.8 3.2 3.2 4.5
Al SS (mg/L) 4 3 2 14 6
=~ & = F# (mg/L) 1.48 1.18 1.48 1.74 1.47
A 4 B (mg/L)] 0.325 0.364 0.148 0.137 0.244
WAk W A A4~ (mg/L) 15600 14400 15000 16400 15350
€ ToE=TEEFE (mg/L) 0.59 0.55 0.32 0.55 0.50
o fpgEerEEFR (me/L) 0.08 0.02 0.07 0.14 0.08
RE Rl E %2 3R (mg/L) 0.55 0.09 0.68 0.71 0.51
o L B M BE (mg/D)| 0266 | 0.282 | 0.123 0.119 0.198
B A s 8 E (mS/m) 4450 3790 4380 4670 4323




W& H 54 AKiges | A $RA HIE T A 44
IN
i R s | BEN| D X
28 HWEHHB (A/H) 5/25 7/20 11/16 1/17 HEOpE
g AR (B4 8:49 8:45 8:50 10:20 DR
- B I Ar E Pl Qi Qi Qi
= 7K % (m) 4.4 4.0 4.9 4.4
gl B B ok *JE g g 7<)
.| K f & = = Bl
U - (°C) 24.8 26.8 12.7 7.9
| K i (C) 24.0 27.7 17.9 13.6
s @, A Jfgﬁ’%@ et | KERkf | e
R R = e | A i 5 Ji: 5
g 75 gl E (m) 1.1 1.1 2.1 2.8 1.8
% 5 B2 (ecm) |> 100 [> 100 |> 100 100 [> 100
17 | A= pH 7.5 7.7 7.5 7.2 7.5
- DO (mg/L) 2.8 7.5 6.0 5.3 5.4
5 BOD (mg/L) 3.5 2.1 1.5 3.6 2.7
Br COD (mg/L) 6.3 6.4 6.3 10 7.3
=R SS (mg/L.) 3 3 (< 1 3 3
mlL®E 0 # O F mg/L)]| 229 5.74 5.50 12.8 6.58
IS # (mg/L)]  0.625 0.797 0.193 0.573 0.547
T & & meg/D] - - - - -
B K I v A (mg/l) - - - - -
|l & ¥ 7 v (mg/L) — - - - -
/53 pie) (mg/L) - - - - -
Wl A 7 2 A (mg/L) - - - - -
A & (mg/L) - - - - -
e 7K #R (mg/L) — - - . —
k¥ ki (mg/L) - — - - -
ol B M P B (ng/L) - - - - -
H [Vt~ 1 (mg/L) . . . - -
H 7 5 & (me/l) B B B - -
"Wk A A4 > (mg/L)] 10600 3710 8420 7310 7510
Z MBAS (mg/L) - - - — -
ToE=THEZE (mg/L) 1.10 0.54 0.26 7.00 2.23
%) fafetEEFE (ng/L) 0.07 0.06 0.29 1.38 0.45
THERTEEE 5 (mg/L) 0.75 4.34 4.89 3.24 3.31
"B w 7 % (meg/L)| 0.557 0.776 0.150 0.483 0.492
H A s E E (mS/m)|] 3110 1200 2520 2240 2268
B oK O T)E T)E )= INE]
. 7K B (C) 23.4 25.3 19.4 13.2
= = i L A S
. 75 i B (em) |> 100 50 [> 100 100 88
[ A pH 7.6 7.6 7.9 7.9 7.8
T DO (mg/L)| 2.6 0.6 4.2 5.0 3.1
T | g BOD (mg/L) 2.5 3.8 1.1 1.8 2.3
5 COD (mg/L) 4.3 7.0 2.6 3.3 4.3
e SS (mg/L) 4 4 2 15 6
i == = #  (mg/L) 1.39 1.51 1.27 1.69 1.47
H % B (mg/L)] 0.296 0.360 0.125 0.118 0.225
Ak W A4 4~ (mg/L) 16500 14100 16200 17700 16125
€ ToE=THESR (ng/L) 0.70 0.37 0.23 0.53 0.46
5 fagfErEzEFR (mg/L) 0.07 0.03 0.06 0.13 0.07
REme a2 (mg/L) 0.39 0.39 0.54 0.69 0.50
i LR MR P B (mg/D)| 0.251 | 0.296 | 0.109 | 0.101 0.189
R i H = (mS/m] 4610 3950 4480 4700 4435




) E Hh S 4 A | )14 KA HIE T A 44
PAN MINN
i wEE | s | S | c I
T {A]
28 HEAR (H/H) 5/25 7/20 11/16 1/17 EOE
A FHAREZ] (RF:47) 9:16 9:20 9:17 10:50 By
. A E Pt Pl it Pl
== 7K % (m) 3.7 3.2 4.4 4.4
BRI KB =g )= g g
- - j:< @ = £ = AL
ol I iH (C) 25.1 27.3 13.0 8.5
et IS i (C) 23.9 27.8 20.0 16.3
i @, JiE! Fetats | srtefa | Wik | B8t
S = Ji: 5 fi 5 fiE R Ji: 5
5 75 B - (m) 1.4 1.1 2.2 3.0 1.9
% i E (cm) 71 92 100 100 91
18 | A= pH 7.6 7.5 7.5 7.2 7.5
. DO (mg/L) 7.0 5.8 5.7 5.6 6.0
i BOD (mg/L) - - - - —
Br COD (mg/L) 9.2 9.9 6.5 9.4 8.8
H |55 SS (mg/L) 4 3 1 5 3
w2 = % (mg/L) 11.9 11.9 11.0 14.0 12.2
S B (mg/L)|  0.995 0.583 0.191 0.446 0.554
HI 2% 4 (mg/L) - B . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
H| A fli 7 v & (mg/L) - - - - —
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 6440 4990 7950 8200 6895
z MBAS (mg/L) - = _ — -
TUoE=TEESE (mg/L) 6.29 6.00 2.78 8.25 5.83
D etz R (mg/L) 0.26 1.78 0.49 1.33 0.97
LS =E (mg/L) 4.82 3.53 6.19 3.58 4.53
I % m % % (mg/L| 0874 0.471 0.131 0.363 0.460
B s 5 OFE (mS/m)] 2060 1490 2410 2430 2098
BB oK ®E T/E INE] INE] INE
. 7K i (C) 23.3 26.4 22.4 15.5
R = Ji 5 fiE 5 iR Ji 5
. 5 5 B (cm) 63 69 100 100 83
| e b 7.9 7.6 7.9 7.9 7.8
i DO (mg/L) 7.2 2.6 4.1 5.1 4.8
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 6.0 5.7 3.0 3.7 4.6
Al SS (mg/L) 8 3 2 12 6
=~ & = F# (mg/L) 1.73 1.21 1.58 1.98 1.63
A 4 B (mg/L)| 0.249 0.306 0.113 0.129 0.199
WAk W A A4~ (mg/L) 14700 15600 17100 16700 16025
€ ToE=TEEFE (mg/L) 0.54 0.36 0.50 0.97 0.59
o fpgEerEEFR (me/L) 0.11 0.08 0.06 0.15 0.10
RE Rl E %2 3R (mg/L) 0.91 0.59 0.48 0.67 0.66
o |LBE BR M BE (mg/L)] 0.166 | 0.222 | 0.094 | 0.109 0.148
B A s 8 E (mS/m) 4250 4080 4710 4710 4438




) E Hh S 4 A | )14 KA HIE T A 44
77 X = —= R RED =)
B AR HWHRE R Y6 i C ) 1 [X
28 HEAR (H/H) 5/25 7/20 11/16 1/17 EOE
R AR A EA] (RF:5)) 10:08 | 10:03 9:48 11:15 a2
. G VA ¥ AR O | AR O | AR O | AR D
ﬁ AN Nyt
o 7K % (m) 4.7 4.2 5.0 4.8
BRI KB =g )= g g
B P e T = = =0
I " (C) 25.8 28.0 13.0 7.4
et IS EH_(C) 23.4 27.8 19.4 15.2
i @, +H H%%%%@ f%%%@ H%?ﬁ%@ FEB A
S = Dt e | e R | g se | R
5 75 B - (m) 1.0 0.9 2.2 2.5 1.7
% i o (cm) 73 90 |> 100 100 91
18 | A= pH 7.7 7.7 7.5 7.2 7.5
. DO (mg/L) 4.3 6.9 5.6 5.9 5.7
i BOD (mg/L) - - = - -
Br COD (mg/L) 6.7 7.7 7.3 9.2 7.7
H |5 SS (mg/L) 4 3 1 8 4
w2 £ % (mg/L) 5.11 7.35 8.72 13.0 8.55
S B (mg/L)|  0.765 0.660 0.193 0.494 0.528
HI 2% 4 (mg/L) B B . - .
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) - - — — ~
JE &h (mg/L) - - - — -
Wl AN i 7 v & (mg/L) - - - - -
H fit F# (mg/L) - - - - -
i 7K R (mg/L) - - — — —
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . _ - - .
H v = 2 (mg/L) - - — = —
WAt W A 4~ (mg/L) 7170 4750 7900 7990 6953
z MBAS (mg/L) - = _ - -
TUoE=TEESE (mg/L) 1.92 1.95 0.83 7.50 3.05
D etz R (mg/L) 0.12 0.73 0.44 1.31 0.65
LS =E (mg/L) 2.78 4.34 6.29 3.20 4.15
I % m " % (mg/L)| 0687 0.590 0.137 0.408 0.456
B s 5 OFE (mS/m)] 2230 1410 2400 2440 2120
BB oK ®E T/E INE] INE] INE
. K i (C) 23.2 25.4 19.6 13.4
R = MR | e | R Ji 5
. 5 5 B (cm) 86 [> 100 [> 100 100 97
c3ps pH 7.7 7.5 7.9 7.9 7.8
i DO (mg/L) 3.9 < 05 3.4 4.7 3.1
TH g BOD (mg/L) - - - _ _
5 COD (mg/L) 4.3 5.5 3.4 3.4 4.2
Al SS (mg/L) 6 5 3 5 5
=~ & = F# (mg/L) 1.48 1.46 1.01 1.43 1.35
A 4 B (mg/L)] 0.246 0.300 0.148 0.116 0.203
WAk W A A4~ (mg/L) 16600 16000 17600 17100 16825
€ ToE=TEEFE (mg/L) 0.70 0.66 0.22 0.53 0.53
o fpgEerEEFR (me/L) 0.07 0.09 0.05 0.11 0.08
RE Rl E %2 3R (mg/L) 0.44 0.21 0.62 0.58 0.46
o L Be M B (me/L)] 0.185 | 0.244 | 0.131 0.100 0.165
B A s 8 E (mS/m) 4690 4280 4650 4820 4610




W& H 54 AKiges | A $RA HIE T A 44
IN
7B JUWH—TH B | B | C OIS
28 HWEHHB (A/H) 5/25 7/20 11/16 1/17 HEOpE
g AR (B4 11:00 10:38 10:28 11:55 - 1)
- I VA JERE JERE JERE SR
= 7K % (m) 4.1 4.2 6.0 5.9
gl B B ok *JE g g 7<)
.| K oz & i s Bl
U B (C) 24.9 29.2 13.5 7.1
| K () 21.9 27.4 17.5 12.2
P @, A R AtE | E St hrkf FRh
IR X MR R o L 4 L
g 75 gl E (m) 1.2 1.1 1.8 3.3 1.9
% 5 B (cm) 44 55 [> 100 |> 100 75
17 | A= pH 8.0 8.0 7.9 7.8 7.9
. DO (mg/L) 9.8 10.4 6.0 5.8 8.0
1 BOD (mg/L) - - = - -
B COD (mg/L) 7.0 7.6 3.3 5.0 5.7
H 52 SS (mg/L) 15 6 1 2 6
B = # (mg/L) 1.80 3.77 2.62 3.71 2.98
IS B (mg/L)]  0.242 0.372 0.118 0.210 0.236
H = i # (mg/L) |< 0.01 0.01 |< 0.01 0.01 0.01
J1 K X 7 A (mg/L) < 0.001 [< 0.001 [< 0.001 |< 0.001 < 0.001
el &2 ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 01 < 0.1
/53 pie) (mg/L) |< 0.005 |< 0.005 |< 0.005 [< 0.005 [[<  0.005
1] Nl 7 v A (mg/L) [<0.02 < 0.02 |[< 0.02 [< 0.02 J[K  0.02
H fitt #  (mg/L) [< 0.005 [< 0.005 [< 0.005 [< 0.005 [[<  0.005
e 7K g1 (mg/L) |< 0.0005[< 0.0005[< 0.0005[< 0.0005[< 0.0005
F &l (mg/L) |<  0.02 |< 0.02 |< 0.02 [< 0.02 [[< 0.02
ol M M B me/L < 005 [< 0.05 [< 005 [< 005 [[< 005
H [ EmE~r 7> (mg/L) 0.02 0.03 0.05 |<  0.02 0.03
H Vi = 2 (mg/L) [< 0.02 |[< 0.02 [< 0.02 [< 0.02 [< 0.02
Bk A A4 > (mg/L)] 15800 9020 16000 15200 14005
z MBAS (mg/L) 0.05 0.06 0.02 0.03 0.04
ToE=THEZE (mg/L) 0.75 1.63 0.76 1.05 1.05
%) fafetEEFE (ng/L) 0.10 0.48 0.10 0.37 0.26
e (mg/L) 0.78 1.17 0.99 1.27 1.05
i "B ® % % (me/D)| 0119 | 0272 | 0.103 | 0.188 0.171
B s E R (mS/m)| 4410 2710 4240 4200 3890
RO oK OB = TE INE] T
. K B (C) 21.4 22.6 18.4 12.4
R = e R | HEE fiE 5L Ji 5
. i 5 & (cm) 56 54 [> 100 |> 100 78
R A pH 8.1 8.0 8.0 8.0 8.0
i DO (mg/L)] 9.4 6.6 5.2 5.4 6.7
I | BOD (mg/L) - - - - -
s COD (mg/L) 6.4 6.4 2.5 2.5 4.5
o SS (mg/L) 11 6 5 5 7
=~ & = % (mg/L) 1.31 2.05 0.94 0.95 1.31
A % B (mg/L)|  0.177 0.246 0.086 0.072 0.145
W\ ¥ A4 v (mg/L)] 16600 14200 16500 18100 16350
< ToE=THER (mg/L) 0.37 0.23 0.22 0.15 0.24
5 fEferE=EFE (mg/L) 0.08 0.13 0.04 0.06 0.08
[E[ e (mg/L) 0.64 0.98 0.35 0.47 0.61
i | BE MR M B (me/L)| 0.071 | 0.164 | 0.076 | 0.062 0.093
R fx H = (mS/m)] 4490 3670 4780 4900 4460




) E Hh S 4 A | )14 KA HIE T A 44
PAN
e ) 11 Wrd | ral| E OIS
28 HEAR (H/H) 5/26 8/4 11/17 1/18 EOE
R AR A EA] (RF:5)) 8:00 7:15 7:39 9:25 a2
. A E L it i Pl
== 7K % (m) 2.6 2.5 3.1 1.9
gl B M KR =g <& g FJE
- - j:< 1& = 5 & i3
ol I iH (C) 23.7 27.0 11.0 5.0
et IS i (C) 21.5 27.5 15.5 11.1
i @, +H BHIK Rk KR | PRk TR
S = Ji: 5 fi 5 fiE R Ji: 5
5 75 B - (m) 0.6 1.0 1.5 1.4 1.1
% i B (em) |> 100 |> 100 [> 100 [> 100 f> 100
15 | 4= pH 7.6 7.6 7.1 8.0 7.6
- DO (mg/L) 6.7 6.8 5.3 9.8 7.2
- BOD (mg/L) 1.1 0.9 1.9 1.3 1.3
bt COD (mg/L) 2.2 2.1 4.1 2.7 2.8
ERE= SS (mg/L) 1 <1 2 <1 1
w2 = # (mg/L)|  3.45 3.52 1.77 3.75 3.12
S B (mg/L)|  0.033 0.037 0.205 0.020 0.074
HI = i $n (mg/L) I< 0.01 |< 0.01 0.01 [< 0.01 [[< 0.01
1K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
|l & ¥ 7 v (mg/L)J< 0.1 [< 0.1 [< 01 [< 01 J[< 0.1
53 i) (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[<  0.005
IR Nl 7om N (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H filk F (mg/L) |< 0.005 [< 0.005 |< 0.005 |< 0.005 [[<  0.005
o 7K g1 (mg/L) |< 0.0005|< 0.0005[< 0.0005[< 0.0005[< 0.0005
iS ] (mg/L) < 0.02 [< 0.02 |< 0.02 |< 0.02 [[<  0.02
wolw m M 8 (mg/L]< 005 [< 005 0.07 [< 0.05 0.06
I§ WM~ Y (mg/L) 0.08 [<  0.02 0.09 0.05 0.06
Y = A (mg/L) [< 0.02 < 0.02 |[< 0.02 |[< 0.02 (< 0.02
WAt W A 4~ (mg/L) 1770 1930 13600 2350 4913
z MBAS (mg/L) 0.02 [<  0.02 0.04 0.02 0.03
TUoE=TEESE (mg/L) 0.16 0.04 0.65 0.05 0.23
D etz R (mg/L) 0.01 0.07 0.05 0.04 0.04
LS =E (mg/L) 3.22 3.25 0.91 3.48 2.72
I % m % % (me/L)|  0.029 0.032 0.171 0.016 0.062
B X s B (nS/m) 634 603 3830 772 1460
BB oK ®E T/E T)E INE] INE
. 7K i (C) 23.4 26.3 18.6 13.0
5= = fifbk 38 B Bk 38 5 sk | TER
. 5 5 B (cm) 21 25 37 |> 100 46
| e b 7.3 6.9 7.1 7.7 7.3
o DO (mg/L) 0.7 ]< 05 [< 0.5 7.1 2.2
T | BOD (mg/L) 9.1 9.5 2.8 3.4 6.2
5 COD (mg/L) 6.8 12 4.8 3.9 6.9
Al SS (mg/L) 3 5 3 3 4
=~ & = F# (mg/L) 1.73 2.70 1.24 2.15 1.96
A 4 B (mg/L)] 0.428 0.511 0.235 0.148 0.331
WAk W A A4~ (mg/L) 15000 17400 16500 16400 16325
€ ToE=TEEFE (mg/L) 0.80 1.29 0.69 0.87 0.91
o dpgietEz=EFR (mg/L) < 0.01 [< 0.01 0.02 0.10 0.04
RE Rl E %2 3R (mg/L) [< 0.01 |< 0.01 0.04 0.84 0.23
i LR MR M BE (mg/L)] 0392 | 0364 | 0.174 | 0.107 0.259
B A s 8 E (mS/m) 4380 4020 4450 4350 4300




) E Hh S 4 A | )14 KA HIE T A 44
PAN
g ) |G SO M| C oIS
28 HEAR (H/H) 5/26 8/4 11/17 1/18 EOE
R AR A EA] (RF:5)) 8:25 8:02 7:55 9:55 a2
5 B O A % Tt | T s | TR | SR,
== 7K % (m) 2.0 1.9 2.0 2.0
BRI KB =g )= g g
B PN e = £ i iE
I " (C) 94.0 26.8 10.9 5.2
et IS i (C) 23.6 27.6 15.7 7.0
i @, JiE! BHIK Rk KR | PRk TR
S = Az | PR TR | MR i L
5 75 B - (m) 0.8 0.7 2.0 2.0 1.4
% i o (cm) 70 70 [> 100 |> 100 85
18 | A= pH 7.3 7.3 7.3 7.8 7.4
. DO (mg/L) 3.4 1.4 2.8 9.5 4.3
i BOD (mg/L) - - - - —
Br COD (mg/L) 4.1 4.5 3.5 3.2 3.8
H |5 SS (mg/L) 2 2 1 1 2
w2 = # (mg/L)|  2.63 2.04 1.69 2.80 2.29
S B (mg/L)|  0.235 0.256 0.239 0.088 0.205
HI 2% 4 (mg/L) - . . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
H| A fli 7 v & (mg/L) - - - - —
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 8870 6910 14200 9420 9850
z MBAS (mg/L) - = _ - -
TUoE=TEESE (mg/L) 0.48 0.54 0.30 0.41 0.43
D etz R (mg/L) 0.02 0.06 0.07 0.07 0.06
LS =E (mg/L) 1.64 0.96 0.84 2.13 1.39
I % m % % (me/L)| 0175 0.193 0.208 0.070 0.162
B X s B (nS/m) 2430 1930 4080 2810 2813
BB oK ®E T/E INE] INE] INE
. 7K i (C) 23.4 26.8 18.0 12.4
5= = MR mwiokgen| MR L
. 5 5 B (cm) 73 35 |> 100 |> 100 77
| e b 7.5 7.0 7.4 7.8 7.4
i DO (mg/L)| 39 |< 05 2.6 5.7 3.2
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 5.5 8.0 3.6 3.4 5.1
Al SS (mg/L) 6 6 2 3 4
=~ & = F# (mg/L) 1.46 1.80 1.73 1.98 1.74
A 4 B (mg/L)|] 0.287 0.404 0.221 0.125 0.259
WAk W A A4~ (mg/L) 15600 13000 16100 16200 15225
€ ToE=TEEFE (mg/L) 0.42 0.74 0.47 0.82 0.61
o fpgEerEEFR (me/L) 0.06 [< 0.01 0.07 0.08 0.06
RE Rl E %2 3R (mg/L) 0.51 [< 0.01 0.73 0.89 0.54
o L BR M BE (mg/D)| 0214 | 0279 | 0.190 0.107 0.198
B A s 8 E (mS/m) 4320 3290 4150 4410 4043




) E Hh S 4 A | )14 KA HIE T A 44
PAN
o T o SO (it C SIS
28 HEAR (H/H) 5/26 8/4 11/17 1/18 EOE
R AR A EA] (RF:5)) 8:50 8:40 8:15 10:25 a2
- A E HetEls | tetEhs | B | s
== 7K % (m) 3.1 3.0 3.6 3.0
BRI KB =g )= g g
- - j:< @ = £ i iE
ol I iH (C) 23.8 27.6 11.8 5.4
et IS i (C) 23.4 28.3 15.9 10.7
i @, JiE! FEtB )ﬂ%@ Bk £o TR
S = P K8 Ji: 5
5 75 B - (m) 1.7 1.1 2.4 2.0 1.8
% i o (cm) 73 64 |> 100 100 84
18 | A= pH 7.6 7.2 7.4 7.8 7.5
. DO (mg/L) 5.8 1.4 3.3 7.9 4.6
i BOD (mg/L) - - - - —
Br COD (mg/L) 5.0 4.1 3.5 3.1 3.9
H |55 SS (mg/L) 4 4 1 1 3
w2 = % (mg/L) 1.30 2.21 1.35 2.23 1.77
S B (mg/L)|  0.267 0.369 0.230 0.109 0.244
HI 2% 4 (mg/L) . : . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
H| A fli 7 v & (mg/L) - - - - —
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 15600 9400 15000 13000 13250
z MBAS (mg/L) - = _ — -
TUoE=TEESE (mg/L) 0.49 1.12 0.22 0.39 0.56
D etz R (mg/L) 0.07 0.10 0.07 0.08 0.08
[ E=ER (mg/L) 0.63 0.43 0.63 1.43 0.78
I % m % % (me/L)|  0.199 0.279 0.205 0.091 0.194
B X s B (nS/m) 4360 2500 4080 3710 3663
BB oK ®E T/E INE] INE] INE
. K i (C) 23.1 26.5 18.9 12.8
b & WO R | ek B TR R | R
5 5 B (cm) 67 52 69 100 72
| e b 7.6 7.2 7.5 7.8 7.5
i DO (mg/L)| 3.2 |< 05 2.0 5.3 2.8
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 5.2 4.4 3.8 3.7 4.3
Al SS (mg/L) 6 8 5 5 6
=~ & = F# (mg/L) 1.45 1.65 1.13 1.83 1.52
A 4 B (meg/L)] 0.264 0.367 0.177 0.130 0.235
WAk W A A4~ (mg/L) 16200 14900 16900 17200 16300
€ ToE=TEEFE (mg/L) 0.73 0.68 0.31 0.37 0.52
o fpgEerEEFR (me/L) 0.06 0.01 0.05 0.08 0.05
RE Rl E %2 3R (mg/L) 0.48 0.02 0.25 0.74 0.37
o L B M BE (mg/D)| 0.200 | 0.281 0.143 0.114 0.185
B A s 8 E (mS/m) 4520 3890 4570 4580 4390




) E Hh S 4 A | )14 KA HIE T A 44
PAN
ke BN SR [im|  C IS
28 HEAR (H/H) 5/26 8/4 11/17 1/18 EOE
A FHAREZ] (RF:47) 9:25 9:16 9:05 11:00 By
. A E el | il Pt
== 7K % (m) 5.4 4.5 4.2 5.2
BRI KB =g )= g FJE
- - j:< @ = i 5 iE
ol I iH (C) 25.0 29.2 12.4 7.1
et IS i (C) 23.1 28.8 16.7 11.4
i @, JiE! ?ﬁ%i‘%@ Mrfkts | Rk TR
S = e | dmE fiE R Ji: 5
5 75 B - (m) 1.9 1.5 2.5 2.6 2.1
% i E (cm) 78 96 100 100 94
18 | A= pH 7.9 7.3 7.6 7.9 7.7
. DO (mg/L) 7.3 2.4 4.8 7.0 5.4
i BOD (mg/L) - - - - —
Br COD (mg/L) 5.2 5.7 3.8 3.5 4.6
H |5 SS (mg/L) 5 2 1 1 2
w2 = % (mg/L) 1.57 2.17 1.89 2.91 2.14
S B (mg/L)|  0.235 0.388 0.168 0.196 0.247
HI 2% 4 (mg/L) - . . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
H| A fli 7 v & (mg/L) - - - - —
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 15600 10600 15300 16000 14375
z MBAS (mg/L) - = _ - -
TUoE=TEESE (mg/L) 0.51 0.86 0.29 1.16 0.71
D etz R (mg/L) 0.07 0.09 0.09 0.22 0.12
[ E=ER (mg/L) 0.78 0.67 1.34 1.38 1.04
I % m % % (me/L)|  0.170 0.320 0.151 0.178 0.205
B X s B (nS/m) 4220 2790 4280 4380 3918
BB oK ®E T/E INE] INE] INE
. K i (C) 23.0 25.8 18.4 12.1
R = Ji 5 fiE 5 iR Ji 5
. 5 5 B (cm) 60 [> 100 100 100 90
| e b 7.8 7.3 7.8 7.9 7.7
o DO (mg/L) 45 |< 05 3.7 5.9 3.7
I | g BOD (mg/L) - - - - -
o COD (mg/L) 4.2 4.9 3.7 4.7 4.4
Al SS (mg/L) 9 2 2 20 8
=~ & = F# (mg/L) 1.19 1.07 1.01 1.53 1.20
A 4 B (mg/L)| 0.186 0.274 0.132 0.136 0.182
WAk W A A4~ (mg/L) 16500 18200 17400 17600 17425
€ ToE=TEEFE (mg/L) 0.41 0.58 0.21 0.42 0.41
o fpgEerEEFR (me/L) 0.06 0.04 0.05 0.09 0.06
RE Rl E %2 3R (mg/L) 0.49 0.01 0.61 0.70 0.45
o L B M BE (mg/D)| 0.160 | 0.247 | 0.112 0.125 0.161
B A s 8 E (mS/m) 4710 4440 4720 4720 4648




) E Hh S 4 A | )14 KA HIE T A 44
PAN
g W B RS | tmiEn|  C S
28 HEHHB (H/H) 5/26 8/4 11/17 1/18 EOE
R AR A EA] (RF:5)) 9:50 9:58 9:41 11:40 a2
. A E L it HE Pl
== 7K % (m) 4.2 3.8 5.0 5.0
gl B M KR =g <& g FJE
- - j:< fr & [ i i
ol I iH (C) 24.4 31.2 13.8 8.0
et IS EH_(C) 22.7 28.3 16.4 11.8
i @, tH trteta | MRk | R TR
S = Ji: 5 fi 5 fiE R Ji: 5
5 75 B - (m) 1.7 1.5 2.5 2.5 2.1
% i o (cm) 65 |> 100 |> 100 [|> 100 91
15 | 4= pH 8.0 7.5 7.7 7.9 7.8
. DO (mg/L) 8.2 3.9 5.4 7.1 6.2
i BOD (mg/L) - - = - -
Br COD (mg/L) 6.2 6.7 4.1 5.0 5.5
H |5 SS (mg/L) 5 3 1 2 3
w2 £ % (mg/L) 2.08 3.34 3.02 2.55 2.75
S B (mg/L)|  0.233 0.464 0.168 0.169 0.259
HI = i $n (mg/L) < 0.01 0.01 0.01 0.01 0.01
1K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
|l & ¥ 7 v (mg/L)J< 0.1 [< 0.1 [< 01 [< 01 J[< 0.1
53 i) (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[<  0.005
IR Nl 7om N (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H filk F (mg/L) |< 0.005 [< 0.005 |< 0.005 |< 0.005 [[<  0.005
o 7K g1 (mg/L) |< 0.0005|< 0.0005[< 0.0005[< 0.0005[< 0.0005
iS Fi ] (mg/L) < 0.02 [< 0.02 |< 0.02 |< 0.02 [[<  0.02
wo |l w M # (me/D) < 0.05 [< 0.05 [< 0.05 [< 0.05 < 0.05
I§ WM~ Y (mg/L) 0.02 0.02 0.04 0.02 0.03
Z = A (mg/L) [< 0.02 < 0.02 |[< 0.02 |[< 0.02 (< 0.02
WAt W A 4~ (mg/L) 15600 10500 14700 16200 14250
z MBAS (mg/L) 0.04 0.04 0.02 0.03 0.03
TUoE=TEESE (mg/L) 0.50 0.93 0.43 1.01 0.72
D etz R (mg/L) 0.09 0.10 0.11 0.19 0.12
LS =E (mg/L) 0.94 0.84 1.55 1.15 1.12
I % m % % (me/L)| 0.153 0.405 0.151 0.153 0.216
B s 5 OFE (mS/m)] 4350 2850 4100 4490 3948
BB oK ®E T/E T)E INE] INE
. 7K i (C) 22.1 25.3 18.3 11.8
R = WEpe | MR iR Ji 5
N 5 5 - (cm) 62 95 [> 100 |> 100 89
c3ps pH 8.0 7.6 7.9 8.0 7.9
i DO (mg/L) 5.6 1.5 4.4 6.9 4.6
I | g BOD (mg/L) - - - - -
o COD (mg/L) 4.2 4.6 3.4 3.9 4.0
Al SS (mg/L) 8 3 3 7 5
=~ & = F# (mg/L) 1.26 1.64 0.93 1.32 1.29
A 4 B (mg/L)] 0.168 0.258 0.113 0.113 0.163
WAk W A A4~ (mg/L) 16400 17300 17600 18100 17350
€ ToE=TEEFE (mg/L) 0.36 0.61 0.22 0.30 0.37
o fpgEerEEFR (me/L) 0.06 0.08 0.04 0.07 0.06
RE Rl E %2 3R (mg/L) 0.51 0.25 0.32 0.70 0.45
i LR BR M BE (mg/D)] 0.119 | 0.222 | 0.104 | 0.098 0.136
B A s 8 E (mS/m) 4760 4300 4770 4800 4658




